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2. &= [ECOV-D270,300,335MA1 (-BS--BSG)
3. BFREET
(1OHHBRE=E M M= 732 kg
QHB/EE W W=M x 10/1000= 7.32 kN
(2)7Uh—K Lk
DIARE :n n= 8 VN
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nt= 4 N
REMELIVERELETOES hG= 66.1 cm
(4)BEHT DARMDAT=R VAN Y |= 79.0 cm
(B)BETTHARMBAT=R ML SRR B L FETODKTFIER
IG=[__ 338 Jom
4. BREETE
(1 ERETAKEEE KH KH= 15 95,
(2)E&ETRKFEMED FH FH=KHXW= 10.98 kN
() ERETHMMEMESN FV FV=1/2xFH= 5.49 kN
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Rb={FH-hG—(W—FV)-IG} “{I'nt}=[ 21 |kN
B)TUh—KNMDIEREEYIZERTHEAMA Q

Q=FH/n=[__ 137 |kN
(6)T7Uh—KWMZET B HE

DBI-RYRHE o 0 =Rb/A=]| 1.86 |kN/cm?
o= 18 | <f=[_ 176  |kN/cm’
QEAMIEHE T T=Q/A=]| 1.21 |kN/cm?

r=[ 121 ]| <fs=[___ 101 JkN/om’
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fts=1.4ft—1.6 T =| 22.7 lkN/cm?
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@avy)-tEE=[__ 180 |mm =| 018  |m
QR M DEDHAH RS
L=[_ 128 |mm =[_ 0128 |m
@HFREI=hETE Ta= 5.6 kN

Ta=[ 56  |kKN>Rb=[ 21 _ |kN
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